Beyond Regular
CSCI 338



Computational Models

PG S ® SO S O



Computational Models

0 € 0
nea —(O) ’ ? O
1 0
ge—>% 10-¢ g$—-¢ Stack: \/'

210 2un Oz O s o I



Pushdown Automata (PDA)
Stack:

ge—>$ 1,0 - ¢ £$—o¢
O ? ? O

0, -0 1,0 - ¢

Transition Notation:

Input  Stack Stack
—
character , pop push




Pushdown Automata (PDA)

Stack:
ge—$ 1,0 - ¢ g$—o¢
0, -0 1,0 - ¢

a,b —c If ‘a’ is read from input and ‘b’ is on

top of stack, pop ‘b’ and push ‘c’.
&b —-c Without reading input, if ‘b’ is on S = 0011
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a e —cC If ‘a’ is read, push ‘c’.
a,b — € If ‘a’ is read and ‘b’ is on top of

stack, pop ‘b’.
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